Test3-Location1
Transmitter

L

failed

tx = throughput = D . Ps gain o
tx = throughput = | 5.82Mbps gainF - 35
]

Receiver

- N ~
Last »x snapshot, good pkt, 18, data length =~ 1588, Rate = 6 Hbhps=s
L. Lt »x 3 s good pkt, 16, data length 1588, Rate 6 Mbhps
——
Spectrum

05/19/2005 12:09:23 p.m = >

Ref Lyl Offset
0.0 dB

#input Atten(AMP)
100 dB

#RBY
300 kHz

*VBW
300 kHz

2 AT s W PN TEC N A »-p‘pwv'\r' W' - M PV V"“P-"

Trace Coumt
6/6

Refarence Fraqg
Internal

Sweep Time
333 ms

Center Freq 4 960 GHz



